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1) BEORDLSIZHEL S,
AABE IZBEWT, HALAHDOHEMNS
ZAEC=70°+30°=100°
ACDE IZBW\T, HALAADHEENS
80°+ ZLx=100°
E-oT ZLr=100"—80°=20°

2 AORDL>IZHELS,
0 /m&Y, ERAIFELODIS
ZLa =57°
AABCIZBEWT, HALAADEENS
30°+ Lx=57°
FoT ZLxr=57"-30°
=27°
B) BEORDLSIZHEL S,
AD DIEELiFED BCLDXREE ELd 5,
AABEIZBEWT, NALANADHEMNS
ZAEC=45"+30°=75°
ADCEIZBEWT, HALAADEENS
Lz =50°+75°=125°

60°
EORD LI IZREL D,
/ZDBC= Za, 4ZDCB=4b T 5L,
ADBCIZHEWT
120°+ Za + £b =180°
EoT Za+ £b=180°—120°=60°
F7-, LABC=24a, LACB=24b TH5AMN5,
AABCIZEWT
Lr+2Za+22b=180°
U7=MoT

Lz=180°—2(ZLa + £b)=180"°—2 X 60°=60°
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(1) AABCIZEWT
ZABC+ £ZACB=180°— ZBAC=130°

ADBC:%AABC, ADCB:%AACB

THENO
£ZDBC+ LDCB:% (£LABC+ £ACB)=65°

£-7T, ADBCIZEWT Lz =180"—65°=115"
2) AABCIZEWT, AALAHDHEENS
ZABC+ £ZACB=118°

ADBC:%AABC, ADCB:%AACB

THENO

£ZDBC+ LDCB:% (£LABC+ £ACB)=59°

£oT, ADBCIZEWT ZLz=180°—59°=121°
@3 ADBCIZEWT
ZDBC+ £DCB=180°— £ZBDC=56"
£LABC=24DBC, £ACB=24ZDCB
THLENO
ZABC+ £LACB=2(4DBC+ 4£DCB)=112°
£oT, AABCIZEWT £z =180°—112°=68°



